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Please note that you can answer the questions either in English or in Chinese.

A. Multiple Choices B3/ (32 pts)

1. Which of the following statement is false about price
elasticity in both the short run and long run?

(a) The demand for non-durables is much more price

elastic in the long run.

(b) For durable goods, demand is more elastic in the

short run.

{c) More substitutes are usually available in the long

run.
(d) Point elasticity varies along the demand curve.
{e) For durable goods, income elasticity is larger in

the long run than in the short run,

" 2., Suppose the demand curve for x is given by Qf =
10 - 2py + Py, where py is the price of x and py is
the price of a related good y. Which of the following

is true?
(a) Suppose px = 1, py = 2, the price elasticity of
demand is —0.2.
{b) x is a normal good.

(c) Suppose py = 1, py = 2, the cross-price elastic-
ity of demand is 0.1.

(d) y is a compliment good for x
(e} y has a positive sloped Engel curve,

3. Which is not true for an optimal choice (x*, y*) of a

consumer equilibrium?

(a) (x*, y*) are demand functions and both are func-

tions of py, py and income /.

(b) The MRS diminishes as an individual moves

downward along the demand curve,

(c} The level of utility increases as an individual
moves downward along the demand curve.

(d) A Corner solution is not optimal since MRS #
px/py.

" (e) The marginal utility per dollar of expenditure is

the same for each good.

4. Consider the following information about the choices
that Jack makes. Which of the following is not true?

x 'y px py 1

Week1l 10 20 2 1 40
Week2 6 14 2 2 40
Week3 20 10 2 2 60

(a) x and y are both normal goods.

(b) x and y are complement for Jack.

(c) Jack's utility decreases between week 1 and week 2
(d) Jack’s utility increases between week 2 and week 3.

{e) Jack's utility increases between week 1 and week 3.

5. Which of the following is not true for a monopoly market?

(a) If MC = 0, the firm will produce at the point where
the elasticity of demand is exactly —1.

(b) With monopoly power, the monopolist can produce as
many as it wants to make profit than that from a com-

petitive market.

(c) The monopoly usually set the price as a markup on its

marginal cost and thus higher than its cost.
(d) A monopolist can charge any price it wants.

(e) The optimal rule to maximize profit via the MR =
MC for a monopoly firm is the same as in Competi- -

tive market.

6. Which is false about the cost functions in the short run and

long run?

(a) 'I“hc U-shaped LAC curve' i3 due to econ-

omy/diseconomy of scale when changing scale,
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(b) MC crosses the AVC and AC curves at their minimum

points in the short run.

(c¢) The taw of diminishing marginal returns implies that

marginal cost increases as output increases.
(d) Long run fixed cost curve is also decreasing.
(e) LMC intersects at the minimum of LAC in the long
run.
7. Which of the following is not true?
(a) - A firm may incurs a loss in the short run due to P <
AC in a perfectly competitive market,

(b} Producer surplus and profit are the same thing in the

long run for a firm in a competitive market.

(c) The Long-Run supply curve for a competitive market
is the LMC above the minimum point of LAC.

(d) A firm that makes economic profit must also make ac-

counting profit.

B. Synthesized Problems (18 pts)
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(e) Sunk costs are costs that have been incurred and cannot

be recovered.

8. Suppose that John’s utility function is given by U(l) =
/10 -1, where 7 is annual income in thousands of dollars.
John earns an income / of 40 thousand with certainty year
after year. Suppose he is offered a chance to take a new job
that offers a 0.6 probability of earning / = 44, and a 0.4
probability of earning / = 33. Which of the following state-

ment is not true?
(a) John is risk averse.
(b) The utility of his current salary is 20.

(c) The expected utility of the new job is 19.85, thus he
should not take the job. ’

{d) John is willing to pay a risk premium to protect himself
against the variable income associated with the new
Jjob.

{e) None of the above is true,

1. Suppose an monopolistic firm with total cost function TC(Q) = @2 + 50 is facing the demand curve P = 40 — Q.

Answer the following questions.

(a) Find the profit maximizing output Q*, price P and profit.(3 pts)

(b} What would the equilibrium price and quantity be in a competitive market? Compute the deadweight loss due to

menopoly.(5 pts)

2. Consider the following extensive-form game of production strategies between two cereal companies. (a) Find out the

| Nash Equilibrium for this game and explain why the concept of Nash Equilibrium fails to predict the outcome of this
game.(5 pts) (b) What is the subgame perfect equilibrium of this game? (5 pts)
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